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(v)

(vi)
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a5, FAH! B ITR-GRAFT & 3757 A F FNTT |

General Instructions :

32/2/1

(i)  The question paper has 30 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and
Geography both. After completion, attach the maps inside your answer-book.

AT § IHIE! Tl o 6 H STRATG T FT 37 T 2 1

YT

2T Tl & SHia T YIRS ST fefig aret i@ 61 A1 fef@y |

What was the meaning of liberalism in early nineteenth century in Europe ?

OR

Name the writer who wrote a play based on the lives of the Trung sisters.

PG T W 18- 375 Hl [T JHR 616 o (Hehe T T TR Sl STl § 2 1

How is iron-ore transported from Kudremukh mines to a port near Mangaluru ?
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3. o ORI o f&d ARl SR S 99 % fed 99el | 3R B | 1

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

4, UFHEA TSI HAEAT i Al A€ § <] -1 8l JHT STl & 2 1

Why is one party political system not considered a good democratic system ?

5. ShaS UUS HEHING RS THATEST hel¥ 1 & 3299 feliay | 1

State the main aim of Backward and Minority Communities Employees Federation.

6. fore RO @ fafir= agatl & ei-a Higet BURI U9 H SUeH € 2 1

Due to which reason the latest models of different items are available within our reach ?

7. A 3T AR o A ST TRIGH & T5gh Tél §, W] JHATR ool Sanst do- ¥ THR
€ | 39 OmHel | fashar §RT fohd SUMIERTT SR 1 Seota AT 747 & 2 1

If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell
tooth-paste only. In this case which consumer right is being violated by the seller ?

8. TUTER % Ui A &iF o fed 37T faTell o €1eX U A TT T (I3 rae) ST aet ? 1

Which logo will you like to see on the electric heater to be sure of its quality ?

9. TR H FERedl R IIGl AEAT % IR GGHA o LA h [Thrd § Hewarqur i
e 1 33RO Wfed e i gite HifT | 3x1=3
rerar

‘oI = foaamm | 91eT s THEN H g B & (U O dlish T 17 ST
Tfed Fo = gt HIT |

“Culture had played an important role in the development of nationalism in Europe

during eighteenth and nineteenth centuries.” Support the statement with examples.
OR

“French tried to solve educational problems in Vietnam in different ways.” Support the
statement with examples.
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10.

11.

12.

13.

14.

15.

16.

fafi=1 AT T Tfema 37asT STk ¥ 941 S8 7 T HiNT |

Why did the different social groups join the Civil Disobedience Movement ? Explain.

ST HIEHA FHHINH TR U df ST WA QAT araq Ssi’ o AR § 61 721 | JRar
1 T UCTsHaT o 98T | ek aI |

Simon Commission was greeted with slogan ‘Go back Simon’ at arrival in India.

Support this reaction of Indians with arguments.

SR BT STeh! W iRl o SMMER W ailighd I | I Uh R W FA bR =1 €2 142 =

Classify industries on the basis of their main role. How are they different from each other ?

“TATHTOT AT Foll o TATEAT o SUFNT i S SATAHAT & |7 SUHT bl Ared T HI

G BT | 3x1=

“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.

“URA AR T Tk TEwau] AIIel-38Td 3cAIeeh <91 § a2 1 319 qof Wwreg 1 faehra =&t
FATCE 1 JoT G Tt I & fell hig 19 ST GATST 31X ST AR it |

“India is an important iron and steel producing country in the world. Yet we are not

able to perform to our full potential.” Suggest and explain any three measures to get

full potential.

TSTITereh St fohl Shad € 2 WA ST U1t ot foraarT & foheel 1 fomgent o1 Seoi@ iy |

1+2=

What is a political party ? State any two points of the ideology of Bhartiya Janta Party.

FifeAtaar § ST o FStiehor & fodg Fod &1 Aged fhae o 2 39 Ted gr1 foriy o forw

SIYATT T LT T U HISTT | 1+2=

Who led the protest against water privatization in Bolivia ? Describe the ways of

protest adopted by that organization.
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17. “clihc=1 I ST e i AN & Alhdih ol % - fhdr 7 vt &0 | & 17 deht
FRT 2 i gt I | 1+2=3

“The challenge of deepening of democracy is being faced by every democracy in one

form or another.” Support the statement with arguments.

18. & T T % @A ¥ T 9 @ T {7 TR TR BT & 2 Teh IIEI0T I T
HIfT | 3

How is money transferred from one bank account to another bank account ? Explain

with an example.

19. “geAT 3R FaR reifitest = fafy= 391 & die Qarsti & 3cas & TR & 6T e fies
frme & 1 SeTeRuT fed 30 o S ARG e | 3x1=3

“Information and Communication technology has played a major role in spreading out

production of services across countries.” Justify the statement with examples.

20. T TEEdl GHET i SEHROT Tel & [T [d YR Wewaqul ¢ 2 310 [aaR =7 HiTT | 3

How is the concept of Self Help Groups important for poor people ? Give your view

point.

21. “gU9 H 3Gt 91 & AT =ATE T ALATT H SEIEET SITRART SIS e T
TET @1 G G816 GUH U H o7 | 36 HAT B IS0 Wied [oreeduur ity | 5x1=5

YT

“1960 & 391 | foaaam™m I 3G ! FhgT o -9 HERI & ®9 F U fohar T 17 39
T T TR0 A [a9eiduT HifeT |

“Nationalism no longer retained its idealistic liberal democratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.
OR

“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.
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22,  3THEAN 3Nl Yl H oy TR thell 2 T it | 5x1=5

How had Non-cooperation Movement spread in cities ? Explain.

23. YRA T ¥ UeRd Sl & A faaror ufaey & fou Stert aifefaat @ seeon afed
AT HITT | 5x1=5

Explain with examples the conditions responsible for uneven distribution pattern of the

railway network in India.

24. @S FAR SiaA % STHa 9T € 17 IR0 Gled F i g HT | 5x1=5

“Minerals are indispensible part of our lives.” Support the statement with examples.

25. A S ISTEd A | S99 GHel Y TR bl Y i IR HiT | 5

Examine the role of pressure groups and movements in deepening democracy.

26. ‘Al IET SHeATT 3Tk AT i HH i | 314 el [5@mE Fel ggdi & 1”7
T I faveAToT HIfST | 5%x1=5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.

27. WEUSE HHHET B R T R U U I7e el T A H U= e aret
Toh=el UTe HRehT T U T | 5x1=5

Describe any five factors that promote the Multinational Corporations (MNCs) to set-

up their production units in a particular place.

28. OSSO §RT SE WEAT | SIS IAEH! S LT o THE U=T Hl TS WG FHEAE H a0
T | 5x1=5

Describe the major problems created by the globalization for a large number of small

producers and workers.
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29.

30.

A1 TRIT — (A), (B) 31X (C) WRA o AT Y@I-AMMS | 3ifhd [ M0 & | 3 oteqon &
frfefad SRRt St FerEdT ¥ Tgeny 3 S Wel AW At § Sifehd TS {@rei W
fetfae - 3x1=3
(A) T TIF SR YR ST HiU 1 A9 g T |

(B) o8 T ST ‘T 7 3 I I I gl T |

(C) =& T STl [ha T = HeATWE ol IS [ohar o7 |

Three features (A), (B) and (C) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked in the map :

(A) The place where the Indian National Congress Session was held.

(B) The place where the ‘No Tax Campaign’ was started.

(C) The place where peasants organized a Satyagraha.

e : Fr=fefad we Faet giteattia adernterat & o ue J@m 29 % ©H W E

(29.1) 39 TIF H1 AW fAfay, STt faam=r 1920 T YR T T 1 SATae gat ar |

(29.2) 3T WM HT A9 TARET, ST&T 2 7 I T FH I a7 o7 |

(29.3) ToRIA  fREET 7 e w W Seamrg fohar o 9
Note : The following questions are for the Visually Impaired candidates only, in
lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress Session was held in
September, 1920.

(29.2) Name the place where ‘No Tax Campaign’ was started.
(29.3) At which place did the peasants organize Satyagraha in Gujarat ?

IRA & U T AHITes {@-aFtes § et o Suga el 3 39y iR 3% 1

[fglicls I3x1=3
(A) 3TUTTa Sl Gas —  FoluwRy

(B) T I T HIA - ST

(C) v T o sl

On the given political outline map of India locate and label the following with

appropriate symbols :

(A) Nuclear Power Plant — Kalpakkam
(B) [Iron and Steel Plant - Rourkela
(C) Major Sea Port - Kandla
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e : TAfeEd Te hae gheaTed aeterat & o 7o @ 30 & ®H WE

(30.1)
(30.2)
(30.3)

Note :

(30.1)
(30.2)
(30.3)

THOTUTRRH U] STl G fohy To o feore & 2
IH T &l 9 TAEu S@T TSTehell oilel o S8Td 997 fera & |
HEA T ThE d¢ I fera & 9

The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 30 :

In which state is Kalpakkam Nuclear Power Plant located ?
Name the state where Rourkela Iron and Steel Plant is located.

On which coast is ‘Kandla’ port located ?



TRA . 29 % fIT AR
Map for Q. No. 29

A 1 Y@ T-AARE (Tefa)
Outline Map of India (Political)
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U . 30 & foT A
Map for Q. No. 30

WA T F@T-UFRE (TsHifas)
Outline Map of India (Political)
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